
������� �	
������
� ������������ 
���
������ 
�������� ��
��������� �����

���������� ��	
� �� �
� �
�� �

��� 
	��������

�© ���� �������	
 �� �� ���
���
	

���������	 
����� ���
������ �������
� 
������� ������ �������
� ������������ ���������� � ����� ������

�����������	��
 ���	
��
 ����	�	��������
 ���� � �������� ���	���� ��������
 p� ����	����
������������ ������� 
��
���
 n��	����� ������� �	���������	 ����	���� � ���	 ���	�	�
	��

 �����	� �������	������ ����� �������� �	����� ���	�� � �������	������ �������� ����	����!
���	�	�
	��	 ������  �����	�! ������� � ��"��	 �������� ��� ����! ��� �	���������	 ����	���� �	

��
	��
 ��� ����! ����	"���� �����	�	��
 ��������	����
 �	����! ������
�#	
 ��$����� � �� 
� �������� ����������� ��
 ������ � ���� � n��	���� �����������	�

%� ��"��  �����	��
 �	����� ������ ���������	��
 ��� �����	 �������	��	� &���������� �	����
�� ������ ���	�	�
���
 ������� �	� ����! ������
 �� ���	� ������������ ��� ������������ ���	��
 �����	��
� & ���	����	 ���	��� ��	�	�� �������� ���	�	��	 ����� ������ �	� ����! ��� ���	� ����
�	��� � '�����	���� ( ���	�	��� �������� �	�����! �	� �����  �����

 ����� � )�����	��	 �������
������ ��	��	�� �	��	����	����� �������	��
���

*	�� �	����� ������ �������	��
 � ���! ���"� � �������
 ���	�� ��	�	�� ����	��� ������

�	���� �� �	���������	 ����	����� *	�� ������� ������ ���������������

+�����	� �����������
 ���"�����
 ����! �	� #�
 � �������
 ���	�� ��	�	�� �� �	���������	
����	����� ,��"�����
 ���� ���	�	�
	��
 � ����
�� ��	��	�� � �� ��	��	�� ���� ���! ������	
������	�� � 
���� ���	�

�������� ��	�
- ��� �����	  �����	��	! ����	�	��������
 ����! ���"�����
 �����

��������

� ������� ��������� � ��!�"�#��$ �"��$%�$ ������ ��!�"�#��$ �#&����#�'��� ���%#����
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� !�/�%# ,�- �!#���)#� �#%�� !#0#��$ � !�"
& ����� �!#��#��"���$( ����"���
+ �� �!��*
1��# �� ��2#��$ �/���%#+ ���%�)����%�� �����)���%� �!��#�#��$ 3%� � �#%��� ' �������
��������� � ��!�"�#��$ !�����%!�"�����( ���!��#!( " !�/�%�& ,4( 5-� � !�/�%# ,5- �!�"���%�$
�!��#! ���������+ 6�$ '�+7 "�%!#�� �"�& ��!�"�$#�
& ��%#!�����
& %��#'( '� �� �#!"
+
� !�' �# ��)#% ����#!)�"�%� %!#/�#��# "'�.�#��# �/���%#+ ���%�)����%�� 8/��)��#%�$ "�*
�!�� � "����)���%� �!��#�#��$ �#%��� �������#�'� � �!� !����!�"���$ ' ������� �������*
��+ "�%!#��� � !�/�%# ,
- 3%�% �#%�� �!��#�$#%�$ �!� !#0#��� '��'!#%�
& ����� ���������+
"�%!#���

� !�/�%# ,9- ��'����� %#�!#�� �/ ���%#!��%�"# ��$ ��::#!#�1�����
& � ! � ��������
��
��!�"�#��$�� " �!#�����)#���( �%� 1#�#"
# '��!����%
 "#'%�!� ���%�$��$ �#�$.%�$ �#�!#*
!
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� !�/�%�& ,�;	4- �!#���)#�
 !���
# ���&��
 ' ����#��"���. ��::#!#�1�����
& � ! � ��*
��� ��!�"�#��$ �!� ������� ���#& " �����# ��������
& ��!�"�#��+�

��"#�%��( �%� ���#+��. ��!�"�$#��. ���%#�� � :�'��!�"���
� ���#�%�� �'������$ � ��*
��2�. ���#+��+ ���#�
 �#!#�#��
& ,	5- ��)�� �"#�%� ' "���( '� �� " �!�"�+ ���%� ��"
&
�!�"�#��+ �%�$% %���'� ��!�"�#��$�
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<�����%!�� � !� " :���"�� �!��%!���%"# R
n=

dz = −a(t) du+ b(t)v dt, t � p.

>�#�� p ? ������
+ ���#�% "!#�#��@ a(t) � b(t) ? �#�%!�1�%#���
# �'��$!�
# :��'1��(
�!��#� :��'1�$ a(t) $"�$#%�$ �#�!#!
"��+ �� ������� (−∞, p]( � :��'1�$ b(t) �����!�#��
�� '�)��� �%!#�'# [τ1, τ2] ⊂ (−∞, p]�

A� '�)��� �%!#�'# [t, τ ] ⊂ (−∞, p] �����%��
� �!� !����
� ��!�"�#��#� �#!"� � � !�'�
$"�$#%�$ :��'1�$ u : [t, τ ] → R

n � � !����#���+ "�!��1�#+=∫ τ

t
‖du(r)‖ = sup

∑
‖u(rl+1)− u(rl)‖.

>�#�� ‖ · ‖ ? ��!�� " R
n( � "#!&�$$  !��� /#!#%�$ �� "�#� !��/�#��$� ri �%!#�'� [t, τ ]�

�����%��
� �!� !����
� ��!�"�#��#� "%�!� � � !�'� $"�$#%�$ ���#!���$ :��'1�$ v :
[t, τ ] → S(  �#

S = {s ∈ R
n : ‖s‖ � 1}.

B���1�#+ � !
 $"�$#%�$ %��'� (t, z, μ)(  �# t � p( z ∈ R
n � μ ∈ R+� >�#�� ���!#��%"�� R+

�/�����#�� ���)#�%"� �#�%!�1�%#���
& ���#�� C���� μ &�!�'%#!���#% '����#�%"� ������" !#*
��!��"( '�%�!�# ��)�� ��������"�%� �� :�!��!�"���# �����%��� � �!� !����� � ��!�"�#��$
u : [t, p] → R

n�
B!� "
/!���
& �� �%!#�'# [t, τ ] �����%��
& �!� !����
& ��!�"�#��$& � !�'�" �!�"���

�#!#&��� ����1�� ����#%�$ :�!������

μ(τ) = μ(t)−
∫ τ

t
‖du(r)‖, z(τ) = z(t)−

∫ τ

t
a(r) du(r) +

∫ τ

t
b(r)v(r) dr. D	�	E

B#!"
+ ��%# !�� "� "%�!�+ :�!���# D	�	E ������#%�$ " ��
��# <�����;F%��%�#��� ����"�#
�# �#!#!��&��� ��#.2# ��$ ������ !#��!��" �����
"�#%�$ " "��# �#!�"#��%"� μ(τ) � 0�

��$ ���#� gi ∈ R( i = 1, 2( �/�������

S(g1, g2) = {z ∈ R
n : g1 � ‖z‖ � g2}. D	��E

8�#"����( �%� ���)#�%"� D	��E �#���%� %� �� � %���'� %� ��( '� �� g2 � max(g1; 0)� B!�
g2 � g1 > 0 ��� $"�$#%�$ '���1���

>����
 ����� 0 < ε1 � ε2( � ����2�. '�%�!
& " �!��%!���%"# R
n × R+ ��!#�#�#�� %#!��*

������# ���)#�%"�

Z = {(z, μ) ∈ R
n × R+ : z ∈ S(ε1, ε2), μ � 0}. D	�4E

G#�� �#!"� � � !�'� ��'�.��#%�$ " %��( �%�/
 "
"#�%� ����1�. (z, μ) " ���#�% "!#�#�� p ��
%#!��������# ���)#�%"� D	�4E� G#�� "%�!� � � !�'� �!�%�"�����)���

8%�#%��( �%� �����+ ε1 = 0 !�����%!#� " !�/�%# ,�-�
A�����# ��������� � ��!�"�#��$ ��)#% �!�"#�%� ' � ��"#����� ���#�#��. ����1��� B�*

3%��� ����"�# ��������$ ����1�� " ���#�% "!#�#�� p �� %#!��������# ���)#�%"� ����0#�
" ��#��.2#� "��# ,
( �-=

z(p) ∈ S(ε1, ε2) + μ(p)a(p)S, μ(p) � 0.

>�#�� ��������"����� ��#!�1�� ���'�"�'� � ,	
- ���)#��$ �"�& ���)#�%" Zi ⊂ R
n( i = 1, 2(

� ����)#��# ���)#�%"� Z1 �� ����� γ=

Z1 + Z2 = {z ∈ R
n : z = z1 + z2, zi ∈ Zi}, γZ1 = {z ∈ R

n : z = γz1, z1 ∈ Z1}.
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B��%!��� ��'�������
+ �%�/����
+ ���% ,	5-W (t) ⊂ R
n×R+ �!� t � p( "#��2�+ " ���#�%

"!#�#�� p �� ���)#�%"� D	�4E� F 3%�+ 1#��. ""#�#� ��#!�%�! �!� !����� � �� ��2#��$ ,�(	9-�
B��%� X ⊂ R

n×R+( t < τ � p� �� �� T τ
t (X) ? ���)#�%"� %��#' (z, μ) ∈ R

n×R+( ��$ '�)��+
�� '�%�!
& �� �./��� �����%����� �!� !������� ��!�"�#��. v : [t, τ ] → S "%�!� � � !�'�
��)�� �'���%� �����%���# �!� !�����# ��!�"�#��# u : [t, τ ] → R

n �#!"� � � !�'� %�'�#(
�%�/
 %��'� (z(τ), μ(τ))( ��!#�#�$#��$ :�!������ D	�	E �!� μ(t) = μ � z(t) = z( �!�����#)���
���)#�%"� X� B��� �#�( �%� T τ

t (∅) = ∅�

�01���+����  ! ���������	
� �������	
� �
��
�� ������� � �
��	� �����	� p 	�

�	
�����
 Z( ���
"�#%�$ �#�#+�%"� ���)#�%" W (t) ∈ R
n×R+( ���"�#%"�!$.2## ��#��.2��

�"�+�%"��=
D	E W (p) = {(z, μ) ∈ R

n × R+ : z ∈ Z + μa(p)S, μ � 0}@
D�E t < τ � p⇒W (t) ⊂ T τ

t (W (τ))@
D4E #��� t0 < p � (z, μ) /∈W (t0)( %� ��2#�%"�#% !��/�#��#

ω : t0 < t1 < . . . < ti < ti+1 < . . . < tk < tk+1 = p D��	E

%�'�#( �%�

(z, μ) /∈ Tω(Z) = T t1
t0

(
T t2
t1

(
. . . T p

tk
(Z) . . .

))
. D���E

��'�������
+ �%�/����
+ ���%( "#��2�+ " ���#�% "!#�#�� p �� ���)#�%"� D	�4E D��� ,�(
	9-E( !�"#� W (t) =

⋂
ω
Tω(Z). >�#�� �#!#�#�#��# /#!#%�$ �� "�#� !��/�#��$� ω D��	E�

H��#� ���%�%�( �%� ε1 < ε2� F����+ ε1 = ε2 ��)�� !�����%!�"�%� '�' �!#�#���
+(

0 < ε1 < ε
(k)
2 (  �# ����#��"�%#�����%� ε

(k)
2 > ε

(k+1)
2 > ε1 � ε

(k)
2 → ε1� �� �� Z(k+1) ⊂ Z(k)

�
⋂

k�1 Z
(k) = Z(  �# Z(k) ��!#�#�$#%�$ :�!����+ D	�4E � ���#��+ ε2 �� ε

(k)
2 � 8/������� �#!#�

W (k)(t) ��'�������
+ �%�/����
+ ���%( "#��2�+ " ���#�% "!#�#�� p �� ���)#�%"� Z(k)� �� ��
W (t) =

⋂
k�1W

(k)(t) D��� ,�( 	9-E�

� 2! �"1*3+�1"�&% 1�'3+,$%$"�

8/�������

m(t) = max
t�τ�p

a(τ). D4�	E

�1��0"+"4����  ! B!� �./�� t < p "
����#�� �#!�"#��%"� m(t) > 0�

B!� �./
& t < p � μ � 0 ����)��

ν(t) = inf
t�τ<p

(
ε1
m(τ)

+
1

m(τ)

∫ p

τ
b(r) dr

)
, D4��E

G(t, μ) = ε2 + μm(t)−
∫ p

t
b(r) dr, t � p; D4�4E

g(t, μ) =

⎧⎪⎪⎨⎪⎪⎩
max(ε1 − μm(p); 0) �!� t = p, μ � 0,

ε1 − μm(t) +

∫ p

t
b(r) dr �!� t < p � 0 � μ < ν(t),

0 �!� t < p � ν(t) � μ.

D4�5E

�"#�#� ���#�% "!#�#��

q = inf

{
t < p :

∫ p

t
b(r) dr � ε2 − ε1

2

}
. D4�
E

8%�#%��( �%� �� ����"�$ ε1 < ε2 ��#��#% �#!�"#��%"� q < p�
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���������� ��	
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�� �

��"1�*%  ! ��� q � t � p ���������	
� �������	
� �
�� W (t)� ������� � �
��	�

�����	� p 	� �	
�����
 D	�4E� �������� �
����
�

W (t) = {(z, μ) ∈ R
n × R+ : g(t, μ) � ‖z‖ � G(t, μ)}. D4�9E

B��%� q > −∞� �� �� �� :�!���
 D4�
E � �� ����%�����%� :��'1�� D4�	E ��#��#%( �%�∫ p

t
b(r) dr � ε2 − ε1

2
=

∫ p

q
b(r) dr �!� q � t � p. D4��E

8/������� �!� t � p � μ � 0

D(t) =

∫ q

t

b(r)

m(r)
dr. D4��E

ν̂(t) = min

{
ν(q); min

t�r�q

(
ε1 + ε2
2m(r)

+D(r)

)}
, D4��E

Ĝ(t, μ) =
ε1 + ε2

2
+m(t)(μ −D(t)), D4�	�E

ĝ(t, μ) =

{ ε1 + ε2
2

−m(t)(μ −D(t)) �!� 0 � μ < ν̂(t),

0 �!� ν̂(t) � μ.
D4�		E

8�!#�#��� ���#�% "!#�#��

q1 = inf{t < q : D(t) < ν̂(t)}. D4�	�E

��"1�*% )! ��� q1 � t � q ���������	
� �������	
� �
�� W (t)� ������� � �
��	�

�����	� p 	� �	
�����
 D	�4E� �������� �
����
�

W (t) = {(z, μ) ∈ R
n × R+ : ĝ(t, μ) � ‖z‖ � Ĝ(t, μ)}. D4�	4E


%*�(%���  ! �� :�!��� D4��E � D4��E ��#��#%( �%� #��� q > −∞( %� 0 < ν(q) � ε1 + ε2
2

�

8%�.�� � �� D4��E �������( �%� ν̂(q) = ν(q)� ���##( ����)�� " :�!����& D4�4E � D4�5E t = q
� ��%#� !�"#��%"� " D4��E� B������ !�"#��%"� G(t, μ) = Ĝ(t, μ)( g(t, μ) = ĝ(t, μ)� F�#��"�%#����(
�!� t = q ���)#�%"� D4�9E � D4�	�E ��"����.%�

B��%� q1 > −∞� �� �� �� :�!���
 D4�		E( ���%
"�$ ����%�����%� � �#�!#!
"���%� :��'*
1�+ D4��E � D4��E( �������( �%�

D(t) > ν̂(t) �!� t < q1; D(q1) = ν̂(q1); D(t) < ν̂(t) �!� q1 < t � q. D4�	5E

8�!#�#��� ���#�% "!#�#��

q2 = inf

{
t < q1 :

∫ q1

t
b(r) dr � ε1 + ε2

2

}
. D4�	
E

��"1�*% 2! ��� q2 � t � q1 ���������	
� �������	
� �
�� W (t)� ������� � �
��	�

�����	� p 	� �	
�����
 D	�4E� �������� �
����
�

W (t) = {(z, μ) ∈ R
n × R+ : ‖z‖ � G1(t, μ), μ � D(q1)}. D4�	9E

>�#�� �/�����#��

G1(t, μ) =
ε1 + ε2

2
−

∫ q1

t
b(r) dr +m(t)(μ −D(q1)). D4�	�E
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%*�(%��� )! �� !�"#��%"� D4�	5E D(q1) = ν̂(q1) � �� :�!��� D4�	�E � D4�		E ��#��#%( �%�
Ĝ(q1, μ) � ĝ(q1, μ) �!� μ � 0 %� �� � %���'� %� ��( '� �� μ � D(q1)� B�3%��� �!� t = q1
���)#�%"� D4�	4E � D4�	9E ��"����.%�

<�����%!�� �����+( '� �� q2 > −∞�

��"1�*% 5! ��� t � q2 ���������	
� �������	
� �
�� W (t)� ������� � �
��	� ������

	� p 	� �	
�����
 D	�4E� �������� �
����
�

W (t) = {(z, μ) ∈ R
n × R+ : ‖z‖ � G2(t, μ), μ � D∗(t)}. D4�	�E

>�#�� �/�����#��

G2(t, μ) = m(t)(μ −D∗(t)), D∗(t) = D(t) +D(q1)−D(q2) � 0. D4�	�E


%*�(%��� 2! �� :�!���
 D4�	
E ��#��#%( �%�

∫ q1

q2

b(r) dr =
ε1 + ε2

2
� 8%�.�� � �� !�"#��%"�

D∗(q2) = D(q1) �������( �%� �!� t = q2 ���)#�%"� D4�	9E � D4�	�E ��"����.%�

��$ ��'���%#���%"� :�!��� D4�
E( D4�	�E( D4�	
E � D4�	9E �#�/&����� "
�����%� ����#��#
��#!�%�!� �!� !����� � �� ��2#��$ �� ���)#�%"#( ��#.2#� :�!�� '���1��

� 5! �-(�#+���� '�%(���6 "0�1%$"1% 01"71%**�"7" 0"7+"8���6 �% &"+,9�

�
������ ���)#�%"� T τ
t (X) �!� t < τ � p( '� ��

X = {(z, μ) ∈ R
n × R+ : l(μ) � ‖z‖ � L(μ)}, D5�	E

 �# �����#�!#!
"��$ ����� :��'1�$ l : R+ → R+ � �#�!#!
"��$ :��'1�$ L : R+ → R %�'�"
(
�%� ���)#�%"�

Λ = {μ � 0 : l(μ) � L(μ)} = [D,+∞) �!� �#'�%�!�� ����# D � 0. D5��E

B!� t < τ � p �/�������

A(t, τ) = max
t�r�τ

a(r), B(t, τ) =

∫ τ

t
b(r) dr. D5�4E

�� �� �/���%� ���%�)����%� � !�'�" !�"�
 ,		-={∫ τ

t
a(r) du(r) :

∫ τ

t
‖du(r)‖ = ν � 0

}
= νA(t, τ)S,

{∫ τ

t
b(r)v(r) dr : ‖v(r)‖ � 1

}
= B(t, τ)S.

>���0#� ���)#�%"� X D5�	E " :�!�# '���1� D	��E� �� �� �� ��!#�#�#��$ ���)#�%"� T τ
t (X)

� �� :�!��� D5�	E( D5��E ��#��#%( �%� (z, μ) ∈ T τ
t (X) %� �� � %���'� %� ��( '� �� ��$ �./� �

v ∈ S ��+��%�$ η ∈ [D,μ] � u ∈ S %�'�#( �%� z−(μ−η)A(t, τ)u+B(t, τ)v ∈ S(l(η), L(η))� 8%�.��(
��������$ ��!#�#�#��#  #��#%!��#�'�+ !�����%�

Z1−̇Z2 = {z ∈ R
n : z + Z2 ⊂ Z1} =

⋂
z∈Z2

(−z + Z1)

�"�& ���)#�%" Zi ⊂ R
n ,	
-( �������( �%� %��'� (z, μ) ∈ T τ

t (X) %� �� � %���'� %� ��( '� ��

z ∈
{ ⋃

D�η�μ

(S(l(η), L(η)) + (μ − η)A(t, τ)S)

}
−̇B(t, τ)S. D5�5E

���� μ < D( %� ���)#�%"� D5�5E $"�$#%�$ ���%
��
��**%  D��� ,	�-E� ��� ���
� ����� 0 � δ � ε � σ � 0 �
 
�	�	
 ����	����

S(δ, ε) + σS = S(max(0; δ − σ), ε+ σ), D5�
E

S(δ, ε)−̇σS =

{
∅  �� f(δ, σ) > ε− σ,
S(f(δ, σ), ε − σ)  �� f(δ, σ) � ε− σ.

D5�9E



��� ���� �&�/�%�"( ���� ���#�%�#"

���������� ��	
� �� �
� �
�� �

>�#�� �/�����#��

f(0, σ) = 0 �!� �./�� σ � 0; f(δ, σ) = δ + σ �!� �./
& δ > 0 � σ � 0. D5��E

��"1�*% :! !��	
 ����	���


T τ
t (X) = {(z, μ) ∈ R

n × R+ : δτt (l)(μ) � ‖z‖ � στt (L)(μ), μ � D}, D5��E

"��

στt (L)(μ) = max
D�η�μ

(L(η) + (μ − η)A(t, τ)) −B(t, τ), D5��E

δτt (l)(μ) = f

(
max

(
0; min

D�η�μ
(l(η)− (μ − η)A(t, τ))

)
, B(t, τ)

)
. D5�	�E

� � ' � � � % # � � � % " �� 8/�������

φ(η) = max(0; l(η) − (μ− η)A(t, τ)), ψ(η) = L(η) + (μ− η)A(t, τ). D5�		E

�� �� �� :�!��� D5�5E � D5�
E �������( �%�

T τ
t (X) =

{
(z, μ) ∈ R

n × R+ : z ∈
( ⋃

D�η�μ

S(φ(η), ψ(η))
)
−̇B(t, τ)S

}
. D5�	�E

�� :�!��� D5�		E ��#��#%( �%� :��'1�$ φ(η) $"�$#%�$ �����#�!#!
"��+ �����( � :��'1�$
ψ(η) �#�!#!
"��� ���##( φ(η) � ψ(η) �!� D � η � μ� 8%�.�� ��)�� ������%�( �%�

⋃
D�η�μ

S(φ(η), ψ(η)) = S

(
min

D�η�μ
φ(η), max

D�η�μ
ψ(η)

)
.

B���%�"�� 3%� :�!���� " D5�	�E � �!��#��� :�!���� D5�9E� B������ :�!���
 D5��E;D5�	�E� �
�
������ T p

t (Z) ��$ ���)#�%"� Z D	�4E�

�+��#$���  ! ��� ���
� q � t � p

T p
t (Z) = {(z, μ) ∈ R

n × R+ : δpt (ε1)(μ) � ‖z‖ � G(t, μ)}, D5�	4E

"��

δpt (ε1)(μ) =

⎧⎪⎨⎪⎩
0  ��

ε1
m(t)

� μ,

ε1 − μm(t) +B(t, p)  �� 0 � μ <
ε1
m(t)

.
D5�	5E

� � ' � � � % # � � � % " �� �� :�!��� D4�	E � D5�4E ��#��#%( �%� m(t) = A(t, p) � �!� t � τ � p

m(t) = max
0�λ�1

(λm(τ) + (1− λ)A(t, τ)) = max(m(τ);A(t, τ)). D5�	
E

B���%�"�" l(μ) = ε1( L(μ) = ε2( D = 0 " :�!���
 D5��E;D5�	�E( �������( �%� σpt (ε2)(μ) =
= G(t, μ) �

δpt (ε1)(μ) = f

(
max

(
0; min

0�η�μ
(ε1 − (μ− η)m(t))

)
, B(t, p)

)
= f (max (0; ε1 − μm(t)) , B(t, p)).

8%�.�� � �� D5��E ������� :�!���� D5�	5E� �� ��!#�#�#��$ ����� q D4�
E ��)�� ������%�( �%�
:��'1�$ D5�	5E ���"�#%"�!$#% �#!�"#��%"�� G(t, μ) � δpt (ε1)(μ) � 0 �!� "�#& μ � 0� �



8���%����$ ������ ���������+ "�%!#�� ��4

���������� ��	
� �� �
� �
�� �

� :! �"&%'%$�+,#$�" $�"1�*-  

>�:�'��!�#� ����� q � t0 < p � !��/�#��# ω D��	E� <�����%!�� ���)#�%"� Tω(Z) D���E�
��**% )! !
 
�	�	
 ����	���


Tω(Z) = {(z, μ) ∈ R
n × R+ : gω(t0, μ) � ‖z‖ � G(t0, μ)}, D
�	E

"��

gω(ti, μ) =

{
0  �� μ � νω(ti),
ε1 − μm(ti) +B(ti, p)  �� 0 � μ < νω(ti),

D
��E

νω(t) = min

(
ε1

m(tk)
,
ε1 +B(tk, p)

m(tk−1)
,
ε1 +B(tk−1, p)

m(tk−2)
. . . ,

ε1 +B(ti+1, p)

m(ti)

)
, i = 0, k. D
�4E

� � ' � � � % # � � � % " �� 8/�������

Wω(ti) = T
ti+1
ti

(
T
ti+2
ti+1

(
. . . T

tk+1
tk

(Z) . . .
))
, i = 0, k. D
�5E

B�'�)#�( �%� ���)#�%"� D
�5E ����#%�$ :�!����+ D
�	E �!� t = ti� ��'���%#���%"� �!�"#�#�
����'1�#+ �� ����� i� B!� i = k ���)#�%"� Wω(tk) = T p

tk
(Z)� 8%�.�� � �� :�!���
 D5�	4E

�������( �%� ���)#�%"� Wω(tk) ��!#�#�$#%�$ :�!����+ D
�	E I t = tk� �� :�!��� D
��E � D
�4E
��#��#%( �%� :��'1�$ gω(ti, μ) � 0 �!� "�#& μ � 0 � �����#�!#!
"�� ����� ��"���% �% μ�
���##( �� :�!��� D4��E � D5�4E ��#��#%( �%� 2B(ti, p) � ε2 − ε1� B�3%��� �� D4�4E �������( �%�
G(ti, μ) � 0.5(ε1 + ε2) + μm(ti) > 0� F�#��"�%#����( #��� μ � νω(ti)( %� G(ti, μ) > 0 = g(ti, μ)�
B��%� 0 � μ < νω(ti)� �� �� G(ti, μ)− gω(ti, μ) = 2m(ti)μ+ ε2 − ε1 − 2B(ti, p) � 0�

��'�� �/!����( ���)#�%"�( �%�$2## " �!�"�+ ���%� ��'��
"�#�� � !�"#��%"� D
�	E( ���"�#*
%"�!$#% "�#� %!#/�"���$�( '�%�!
# ��'���
"�.%�$ �� ���)#�%"� X D5�	E � Λ = [0,+∞)�

�� :�!���
 D
�5E ��#��#%( �%� Wω(ti−1) = T ti
ti−1

(Wω(ti))� B!��#��� %#�!#�� 
� �� ��

σtiti−1
(G(ti, ·))(μ) = max

0�η�μ
(ε2 + ηm(ti)−B(ti, p) + (μ− η)A(ti−1, ti))−B(ti−1, ti).

8%�.�� � �� :�!��� D5�4E( D5�	
E �������( �%� σtiti−1
(G(ti, ·))(μ) = G(ti−1, μ)�

B�'�)#�( �%�

δtiti−1
(gω(ti, ·))(μ) = gω(ti−1, μ). D
�
E

� ����� �#�#( �� D5�	�E ��#��#%( �%�

δtiti−1
(gω(ti, ·))(μ) = f(C,B(ti−1, ti)), D
�9E

 �#

C = max

(
0; min

0�η�μ
(gω(ti, η) − (μ − η)A(ti−1, ti))

)
. D
��E

B��%� μ � νω(ti)� �� ��

min
0�η�μ

(gω(ti, η) − (μ− η)A(ti−1, ti)) � gω(ti, μ) = 0.

F�#��"�%#����( C = 0� 8%�.�� � �� :�!��� D5��E � D
�9E �������( �%� δtiti−1
(gω(ti, ·))(μ) = 0� ��*

�##( �� D
�4E ��#��#%( �%� νω(ti) � νω(ti−1)� B�3%��� μ � νω(ti−1) �( ��#��"�%#����( gω(ti−1, μ) =
= 0� ��'�� �/!����( �!� μ � νω(ti) !�"#��%"� D
�
E "
����#���

<�����%!�� �����+ 0 � μ < νω(ti)� �� �� �� D
��E �������( �%�

gω(ti, η) = ε1 − ηm(ti) +B(ti, p) > 0 �!� "�#& 0 � η � μ.



��5 ���� �&�/�%�"( ���� ���#�%�#"

���������� ��	
� �� �
� �
�� �

B�3%��� �� :�!��� D5�	
E � D
��E ��#��#%( �%�

C = max (0; ε1 − μm(ti−1) +B(ti, p)). D
��E

B��%�

μ � ε1 +B(ti, p)

m(ti−1)
. D
��E

�� �� �� D
�4E ��#��#%( �%� μ � νω(ti−1)� B�3%��� gω(ti−1, μ) = 0� ���##( �� D
��E �������( �%�
C = 0� 8%�.�� � �� :�!��� D5��E � D
�9E ��#��#% !�"#��%"� D
�
E�

B��%� �#!�"#��%"� D
��E �# "
����#��� �� �� �� ����"�$ 0 � μ < νω(ti) � �� :�!���
 D
�4E
��#��#%( �%� 0 � μ < νω(ti−1)� B�3%���

gω(ti−1, μ) = ε1 − μm(ti−1) +B(ti−1, p). D
�	�E

���##( �� D
��E �������( �%� C = ε1 − μm(ti−1) + B(ti, p) > 0� �� :�!��� D5��E( D
�9E � D
�	�E
��#��#% !�"#��%"� D
�
E�

B���)�� " D
�5E i = 0� B������ %!#/�#��. :�!���� D
�5E� �

��**% 2! ��� ���
� q � t < τ � p �
 
�	�	
 ������	��

T τ
t (W (τ)) ⊃W (t). D
�		E

� � ' � � � % # � � � % " �� �� :�!��� D4�4E � D4�5E ��#��#%( �%� :��'1�$ g(τ, μ) �����#�!#*
!
"�� ����� ��"���% �% μ � G(τ, μ) � g(τ, μ) � 0 �!� "�#& μ � 0� B�3%��� ���)#�%"� W (τ)
���"�#%"�!$#% "�#� %!#/�"���$�( '�%�!
# ��'���
"�.%�$ �� ���)#�%"� X D5�	E � Λ = [0,+∞)�
B!��#��� %#�!#�� 
� B������

στt (G(τ, ·))(μ) = G(t, μ), δτt (g(τ, ·))(μ) = f(C,B(t, τ)),

 �#

C = max
(
0; min

0�η�μ
(g(τ, η) − (μ− η)A(t, τ))

)
. D
�	�E

B�3%��� "'�.�#��# D
�		E /��#% "
����#��( #���

f(C,B(t, τ)) � g(t, μ). D
�	4E

B��%� μ � ν(τ)� �� �� �� D4�5E � D
�	�E �������( �%� C = 0� B�3%��� f(0, B(t, τ)) = 0 �
� g(t, μ)�

B��%� μ < ν(τ)� �� �� �� D4�5E � D
�	�E ��#��#%( �%� C = max(0; ε1−μm(t)+B(τ, p))� B�3%���
#��� ε1 +B(τ, p) � m(t)μ( %� C = 0 �( ��#��"�%#����( �#!�"#��%"� D
�	4E "
����#���

B��%�

0 � μ <
ε1 +B(τ, p)

m(t)
. D
�	5E

�� �� C = ε1 − μm(t) + B(τ, p) > 0� B�3%��� f(C,B(t, τ)) = ε1 − μm(t) + B(t, p)� ���##( ��
�#!�"#��%"� D
�	5E � �� ����%�����%� :��'1�+ m(r) � B(r, p) ��#��#%( �%�

μ <
ε1 +B(r, p)

m(r)
�!� "�#& t � r � τ.

8%�.��( ���%
"�$ �#!�"#��%"� μ < ν(τ) � :�!���� D4��E( �������( �%� μ < ν(t)� ���%
"�$
:�!���� D4�5E( /��#� ��#%�( �%� �#!�"#��%"� D
�	4E "
����#�� � " 3%�� �����#� �



8���%����$ ������ ���������+ "�%!#�� ��


���������� ��	
� �� �
� �
�� �

��**% 5! ����� q � t0 < p � (z, μ) /∈ W (t0)# $
"�� ���������� ������	�� ω D��	E�  ��
�
�
�
� �
 
�	�	
 D���E#

� � ' � � � % # � � � % " �� F� ����� :�!���# D4�9E "����)#� �����+ ‖z‖ > G(t0, μ)� �� �� ��
:�!���
 D5�	4E �������( �%� (z, μ) /∈ T p

t0(Z)�

B��%� ‖z‖ < g(t0, μ)� �� �� �� D4��E � D4�5E ��#��#%( �%�

‖z‖ < ε1 − μm(t0) +B(t0, p) � 0 � μ <
ε1 +B(τ, p)

m(τ)
�!� "�#& t0 � τ < p. D
�	
E

�� ����#��# � �#!�"#��%"� �������( �%� m(p) > 0� ��������$ �#�!#!
"���%� :��'1�+ m(τ)
� B(τ, p) �� �%!#�'# [t, p]( ��)�� ��'���%�( �%� ��2#�%"�#% ����� h > 0 %�'�#( �%�

0 � μ <
ε1 +B(r, p)

m(τ)
�!� "�#& t � τ < r � τ + h � p. D
�	9E

�����#� �./�# !��/�#��# D��	E( � '�%�!� � ti+1 < ti + h� �� �� �� D
�4E � D
�	9E ��#��#%(
�%� μ < νω(t0)� 8%�.��( ��������$ :�!���� D
��E � �#!"�# �#!�"#��%"� " D
�	
E( �������( �%�
‖z‖ < gω(t0, μ)� F�#��"�%#����( "
����#�� D���E� �

8%�#%��( �%� �"�+�%"� 	( '�%�!�# ����%"�#% " ��!#�#�#��� 	( �#���!#��%"#��� ��#��#% ��
:�!��� D4�4E( D4�5E( D4�9E � D5�
E�

�� 3%� � ���#����$ � �� �#�� �;5 ��#��#% �%"#!)�#��# %#�!#�
 	�

� ;! �"&%'%$�+,#$�" $�"1�*- )

��**% :! ��� q1 � r � q �
 
�	�	
 	�����	���
 ĝ(r, μ) � 0  �� ���
� μ � 0 �{
μ � 0 : ĝ(r, μ) � Ĝ(r, μ)

}
= [D(r),+∞).

� � ' � � � % # � � � % " �� �� D4��E ��#��#%( �%� ν̂(r) � ε1 + ε2
2m(r)

+ D(r)� 8%�.�� � �� :�!���

D4�		E �������( �%� ĝ(r, μ) � 0 �!� "�#& μ � 0� ���##( �� :�!��� D4�	�E � D4�		E ��#��#%( �%�

Ĝ(r, μ)− ĝ(r, μ) =

{
2m(r)(μ −D(r)) �!� 0 � μ < ν̂(r),
ε1 + ε2

2
+m(r)(μ −D(r)) �!� ν̂(r) � μ.

F� ����� :�!���# D4�	�E D(r) � ν̂(r)� 8%�.�� � �� �!#�
��2#+ :�!���
 ������� %!#/�#*
��# !�"#��%"�� �

��**% ;! ��� q1 � t < τ � q ��������
 �	
����� D4�	4E ��
�����
���� ������	��

D
�		E#

� � ' � � � % # � � � % " �� B��%� (z, μ) ∈ W (t)� �� �� ĝ(t, μ) � ‖z‖ � Ĝ(t, μ) �( '�' ��#��#% ��
�#��
 
( μ � D(t)�

�� :�!��� D4�		E � D4�	�E( ���%
"�$ �#��� 
( �������( �%� ���)#�%"� W (τ) ��##% "��
D5�	E � ��!��#%!��� L(μ) = Ĝ(τ, μ)( l(μ) = ĝ(τ, μ)( Λ = [D(τ),+∞)� �� %#�!#�
 
 ��#��#%( �%�
(z, μ) ∈ T τ

t (W (τ)) %� �� � %���'� %� ��( '� �� 0 � δτt (ĝ(τ, ·))(μ) � ‖z‖ � στt (Ĝ(τ, ·))(μ)� B�3%���(
#��� ��'�)#�( �%�

Ĝ(t, μ) � στt (Ĝ(τ, ·))(μ) � δτt (ĝ(τ, ·))(μ) � ĝ(t, μ) �!� μ � D(t), D9�	E

������� "'�.�#��# (z, μ) ∈ T τ
t (W (τ))�



��9 ���� �&�/�%�"( ���� ���#�%�#"

���������� ��	
� �� �
� �
�� �

8%�#%��( �%� D(τ) � D(t) � μ� �� :�!��� D4�	�E � D5��E ��##�( �%�

στt (Ĝ(τ, ·))(μ) = max
D(τ)�η�μ

(
ε1 + ε2

2
+m(τ)(η −D(τ)) + (μ− η)A(t, τ)

)
−B(t, τ) =

=
ε1 + ε2

2
+m(t)

(
μ−D(τ)− B(t, τ)

m(t)

)
.

>�#�� %�')# ��������"��� :�!���� D5�	
E� �� :�!���
 D4��E � �� ����%�����%� :��'1�� m(r)
��#��#% �#!�"#��%"�

D(τ) +
B(t, τ)

m(t)
� D(t). D9��E

8%�.�� � �� �!#�
��2#+ :�!���
 ������� �#!"�# �#!�"#��%"� " D9�	E�
�� :�!���
 D5�	�E ��#��#%( �%�

δτt (ĝ(τ, ·))(μ) = f(C,B(t, τ)), D9�4E

 �#

C = max(0;L), L = min
D(τ)�η�μ

(ĝ(τ, η) − (μ− η)A(t, τ)). D9�5E

B��%� D(t) � μ < ν̂(t)� �� ��( ��������$ �#!�"#��%"� ν̂(t) � ν̂(τ) � :�!���
 D4�		E � D5�	
E(
�������( �%�

L =
ε1 + ε2

2
−m(t)(μ−D(τ)). D9�
E

���� L � 0( %� C = 0� �� �� f(0, B(t, τ)) = 0� �� :�!��� D5��E � D9�4E �������( �%� "%�!�#
�#!�"#��%"� " D9�	E "
����#���

���� L > 0( %� C = L� �� :�!��� D5��E( D9�4E � D9�
E �������( �%�

δτt (ĝ(τ, ·))(μ) =
ε1 + ε2

2
−m(t)

(
μ−D(τ)− 1

m(t)
B(t, τ)

)
.

8%�.�� � �� �#!�"#��%"� D9��E ��#��#%( �%�

δτt (ĝ(τ, ·))(μ) �
ε1 + ε2

2
−m(t)(μ−D(t)) = ĝ(t, μ).

B��%� ν̂(t) � μ� �� �� ĝ(t, μ) = 0� B�3%��� "%�!�# �#!�"#��%"� " D9�	E "
����#��( #���
"
����#�� !�"#��%"� δτt (ĝ(τ, ·))(μ) = 0� �� D9�4E � D9�5E ��#��#%( �%� 3%� !�"#��%"� "
����#��
�!� L � 0� B���#��## �#!�"#��%"� "
����#��( #��� ��2#�%"�#% η∗ ∈ [D(τ), μ] %�'�#( �%�

ĝ(τ, η∗)− (μ− η∗)A(t, τ) � 0. D9�9E

B��%� ν̂(t) � μ < ν̂(τ)� �� :�!���
 D4��E � �� �#!�"#��%"� μ < ν̂(τ) ��#��#%( �%�

μ <
ε1 + ε2
2m(r)

+D(r) �!� τ � r � q.

���##(

ν̂(t) = min

(
ν̂(τ); min

t�r�τ

(
ε1 + ε2
2m(r)

+D(r)

))
� μ.

F�#��"�%#����( ��2#�%"�#% ���#�% "!#�#�� t∗ ∈ [t, τ) %�'�+( �%�

μ � ε1 + ε2
2m(t∗)

+D(t∗) = η∗. D9��E



8���%����$ ������ ���������+ "�%!#�� ���

���������� ��	
� �� �
� �
�� �

%����� 	� B��%� m(t∗) = A(t∗, τ)� B��'���'� t � t∗ < τ ( %� D(τ) � D(t∗) � D(t) � μ�
B���%�"�� " �#"�. ���%� D9�9E η∗ = D(t∗) � ������"0##�$ ����#��# �/������� N �

���� D(t∗) � ν̂(τ)( %� �� D4�		E �������( �%� N = −(μ − D(t∗))A(t, τ) � 0� B��%� D(t∗) <
< ν̂(τ)� �� ��

N =
ε1 + ε2

2
−m(τ)(D(t∗)−D(τ))− (μ−D(t∗))A(t, τ).

8%�.��( ���%
"�$ �#!�"#��%"� A(t∗, τ) � A(t, τ) � D9��E( �������( �%� N � −m(τ)(D(t∗)−
−D(τ)) � 0�

%����� �� B��%� m(t∗) > A(t∗, τ)� �� �� m(t∗) = m(τ)� C���� η∗ D9��E ���"�#%"�!$#% �#!�*
"#��%"� η∗ � D(τ)� B���%�"�� 3%� ����� η∗ " "
!�)#��# D9�9E� �� :�!���
 D4�		E �������(
�%�

ĝ(τ, η∗)− (μ− η∗)A(t, τ) =

=
ε1 + ε2

2
−m(τ)

(
ε1 + ε2
2m(t∗)

+D(t∗)−D(τ)

)
−

(
μ− ε1 + ε2

2m(t∗)
−D(t∗)

)
A(t, τ) =

= −m(τ) (D(t∗)−D(τ))−
(
μ− ε1 + ε2

2m(t∗)
−D(t∗)

)
A(t∗, τ) � 0.

>�#�� ��������"��
 �#!�"#��%"� D(t∗) � D(τ) � D9��E�

B��%� ν̂(τ) � μ� �� �� �!� η∗ = μ �#"�$ ���%� �#!�"#��%"� D9�9E !�"�� ���.� �
>�:�'��!�#� ����� q1 � t0 < q � !��/�#��# ω D��	E � p = q� 8/�������

Dω(ti) =

k∑
s=i

1

m(ts)

∫ ts+1

ts

b(r) dr,

ν̂ω(ti) = min

(
ν(q);

ε1 + ε2
2m(tk)

;
ε1 + ε2
2m(tk−1)

+Dω(tk); . . . ;
ε1 + ε2
2m(ti)

+Dω(ti+1)

)
, i = 0, k,

Ĝω(ti, μ) =
ε1 + ε2

2
+m(ti)(μ −Dω(ti)),

ĝω(ti, μ) =

{ ε1 + ε2
2

−m(ti)(μ −Dω(ti)) �!� 0 � μ < νω(ti),

0 �!� μ � νω(ti).

��**% <! ����� q1 � t0 < q# $
"�� ��� ���
"
 ������	�� ω D��	E � p = q �	
�����


Tω(W (q)) ����� ��� D5�	E �  ���������� l(μ) = ĝω(ti, μ)� L(μ) = Ĝω(ti, μ)� Λ = [Dω(t0),+∞)#

��'���%#���%"� �!�"���%�$ ����'1�#+ �� ����� i = 0, k �� ����� �� � ��'���%#���%"��
�#��
 ��

��**% =! ����� q1 � t0 < q � (z, μ) /∈W (t0)# $
"�� ���������� ������	�� ω D��	E � p = q�
 �� �
�
�
� (z, μ) /∈ Tω(W (q))#

��'���%#���%"� ��#��#% �� �#��
 � � ��������"���#� %� � :�'%�( �%�

Dω(t0) → D(t0), ν̂ω(t0) → ν̂(t0), Ĝω(t0) → Ĝ(t0), ĝω(t0) → ĝ(t0) �!� max
0�i�k

(ti+1 − ti) → 0.

��'�� �/!����( �� �#�� 9;� ��#��#%( �%� �#�#+�%"� ���)#�%" D4�	�E �!� q1 � t � q $"�$#%�$
��'�������
� �%�/����
� ���%��( "#��2�� " ���#�% "!#�#�� q �� ���)#�%"� W (q)� F ��#%��
%#�!#�
 	 ������� �%"#!)�#��# %#�!#�
 ��
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���������� ��	
� �� �
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�� �

� <! �"&%'%$�+,#$�" $�"1�* 2 � 5

��**% >! ��� ���
� q2 � t < τ � q1 �
 
�	�	
 ����	���


T τ
t (W (τ)) =W (t). D��	E

� � ' � � � % # � � � % " �� B� ����� �� � ��'���%#���%"�� %#�!#�
 
 �� ��!#�#�#��$ ��#!�%�!�
�!� !����� � �� ��2#��$ � �� :�!��� D4�	9E �������( �%� (z, μ) ∈ T τ

t (W (τ)) %� �� � %���'�
%� ��( '� ��

‖z‖ � max
D(q1)�η�μ

(G1(τ, η) + (μ − η)A(t, τ)) −
∫ τ

t
b(r) dr.

�� :�!��� D4�	�E �������( �%� "
!�)#��#( �%�$2## " �!�"�+ ���%� 3%� � �#!�"#��%"�( !�"��
G1(t, μ)� �

�� !�"#��%"� D��	E ��#��#%( �%� �#�#+�%"� ���)#�%" D4�	
E �!� q2 � t � q1 $"�$#%�$ ��'��*
�����
� �%�/����
� ���%��( "#��2�� " ���#�% "!#�#�� q1 �� ���)#�%"� W (q1)� F ��#%��
%#�!#� 	 � � ������� �%"#!)�#��# %#�!#�
 4�

B#!#+�#� ' ��'���%#���%"� %#�!#�
 5� B!� τ � q2 � α � 0 !�����%!�� ���)#�%"�

F (τ, α) = {(z, μ) ∈ R
n × R+ : ‖z‖ � m(τ)(μ − α)}. D���E

��**%  ?! ��� t < τ �
 
�	�	
 ����	���


T τ
t (F (τ, α)) = {(z, μ) ∈ R

n × R+ : ‖z‖ � m(t)(μ − c)}, c = α+
1

m(t)

∫ τ

t
b(r) dr. D��4E

� � ' � � � % # � � � % " �� �� :�!���
 D���E ��#��#%( �%� (z, μ) ∈ T τ
t (F (τ, α)) %� �� � %���'�

%� ��( '� ��

‖z‖ � max
0�η�μ

(m(τ)(η − α) + (μ − η)A(t, τ)) −
∫ τ

t
b(r) dr.

8%�.�� ��#��#% :�!���� D��4E� �

��**%   ! ��� ���
� t < τ � q2 �
 
�	�	
 ������	�� D
�		E#

� � ' � � � % # � � � % " �� �� :�!��� D4�	�E � D4�	�E ��#��#%( �%� ���)#�%"� W (τ) ��##% "��
D���E � α = D∗(τ)� B�3%��� ���)#�%"� T τ

t (W (τ)) ��!#�#�$#%�$ :�!����+ D��4E �!�

c = D∗(τ) +
1

m(t)

∫ τ

t
b(r) dr � D∗(τ) +

∫ τ

t

b(r)

m(r)
dr.

>�#�� ��������"��� �#!�"#��%"� m(t) � m(r) �!� t � r � τ � ��������$ :�!���
 D4��E � D4�	�E(
�������( �%� c � D(t)� 8%�.�� ������� %!#/�#��# "'�.�#��# D
�		E� �

��**%  )! ����� t0 < q2� � ω & ������	�� D��	E � p = q2# $
"��

Tω(W (q2)) = {(z, μ) ∈ R
n × R+ : ‖z‖ � m(t)(μ −Dω(t0))},

Dω(ti) =

k∑
s=i

1

m(ts)

∫ ts+1

ts

b(r) dr +D(q1). D��5E

� � ' � � � % # � � � % " �� �� :�!��� D4�	�E � D4�	�E "����( �%� ���)#�%"� W (q2) ��##% "��
D���E �!� τ = q2( α = D(q1)� B�3%���( �!��#�$$ �#��� 	�( ������� :�!���� D��5E� �

��**%  2! ����� t0 < q2 � (z, μ) /∈ W (t0)# $
"�� ���������� ������	�� ω D��	E � p = q2�
 �� �
�
�
� (z, μ) /∈ Tω(W (q2))#
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��'���%#���%"� ��#��#% �� �#��
 	� � ��������"���#� %� � :�'%�( �%� Dω(t0) → D∗(t0)
�!� max

0�i�k
(ti+1 − ti) → 0.

��'�� �/!����( �� �#�� 	� � 	4 ��#��#%( �%� �#�#+�%"� ���)#�%" D4�	9E �!� t � q2 $"�$*
#%�$ ��'�������
� �%�/����
� ���%��( "#��2�� " ���#�% "!#�#�� q2 �� ���)#�%"� W (q2)�
F ��#%�� %#�!#� 	( � � 4 ������� �%"#!)�#��# %#�!#�
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